SAP ABAP table VWPBUKR {Company Code Position}
VWPBUKR-MANDT = T000-MANDT

—_——

TOO0O
MANDT [CLNT (3)]

TOO1

MANDT [CLNT (3)]
BUKRS [CHAR (4)]

TO37S

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

—

RANTYP [CHAR (1)]

RREFKONT [CHAR (8)]

VWPBUKR-SGLZB = TW07-SGLZB = __ !

| MANDT [CLNT (3)]

TWO7

MANDT [CLNT (3)]
SGLZB [CHAR (4)]

TWOS8

MANDT [CLNT (3)]
SFIBG [NUMC (4)]

TWI11

SBILK [CHAR (2)]

TZBA

MANDT [CLNT (3)]

SBESANT [CHAR (2)]

VWPBONO

MANDT [CLNT (3)]

________ RANTYP [CHAR (1)]

RANL [CHAR (13)]

RHANDPL [CHAR (10)]




